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Ao oFES U AHASK 5,000 16,200 A 11,200
Q=22 ote Mol Ao &8s JIE ALY 5,000 5,000 0
307 212t0| ™ 5,000 5,000 0]
04 SIZ2ISHAAISHE E X 5,000 5,000 0
O/ H3lo AldaA HE JIE AN
5,000,000 =14l 5,000
==X &4 4,406,180 2,603,260 1,802,920
J| 2,716,977
o=} 593,256
Al 1,095,947
IIEEZYE MEA 2R 171,781 135,418 36,363
J| 85,890
= 42,945
Al 42,946
307 QI2t0| ™ 171,781 135,418 36,363
J| 85,890
= 42,945
Al 42,946
11 A EXAIEEX 171,781 135,418 36,363
ONY= 8= Seags 2YN
171,781,000 14! 171,781
J| 85,890
o= 42,945
Al 42,946
IIEZS IOkt ESAE 29 ANFODIsEY) 9,000 0 9,000
J| 4,500
& 2,250
Al 2,250
402 12t XHE0| ™ 9,000 0 9,000
J| 4,500
= 2,250
Al 2,250
02 CI2ZtXIE A E X (0| THS) 9,000 0 9,000
OJEZENNAESAE JsE2L
9,000,000 =14l 9,000
J| 4,500
o= 2,250
Al 2,250
IIEEZH Ol A ESAIE 29 XA 165,753 151,018 14,735
J| 119,145
& 23,303
Al 23,305
307 QI2t0| ™ 165,753 151,018 14,735
J| 119,145
= 23,303
Al 23,305
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< 23,303
Al 23,305
ONBEZAUWMTLSAL B2 4H Yl
10,400, 000& 14! 10,400
J| 10,400
JIYEe MoK NEsE T2 ¥ AEH X 40,100 40,100 0
J| 28,070
< 3,609
Al 8,421
307 glz2tol & 40,100 40,100 0
J| 28,070
< 3,609
Al 8,421
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OJNE=HIoi it ANz=s=Z2 0
28,000,000& =14 28,000
J| 19,600
< 2,520
Al 5,880
ONE=gUaikt 2=H X& 7,500,000 =14 7,500
J| 5,250
= 675
Al 1,575
OJZ =IOl Hg=&d XA
4,600,000% * 14! 4,600
J| 3,220
< 414
Al 966
ZdIoHHd =AHXE 2GR 33,922 31,410 2,512
J| 23,745
< 5,088
Al 5,089
307 21201 A 33,922 31,410 2,512
J| 23,745
< 5,088
Al 5,089
11T MISRASEEX 33,922 31,410 2,512
OZdIloid =AHIE 2F XN
33,922,000 =14l 33,922
J| 23,745
< 5,088
Al 5,089
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< 23,000
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J| 19,720
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28,170,000 » 14! 28,170
J| 19,720
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J| 110,566
o 23,693
Al 23,693
11 A EXAIEEX 157,952 4,707
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J| 110,566
& 23,693
Al 23,693
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J| 2,216




2 'ng.C+°|(2]j1|) M= AbS

01
o

=Yr
i

2

H

Al

1,108
1,108

IREE N EEES

ONAE=E2 22 A& EAK 24D

4,432,0002! * 14!

Y

= M

4,432

4,432
2,216
1,108
1,108

4,432

=
0r
i
10
Ol
r
z
iz
Ao
02
=
0

=M

63,230

12,646
50,584

63,230

307 QI2H0I &

= M

63,230

12,646
50,584

63,230

IEELNEEES

" 17,740, 0008 +144

O
I
I}
=
2
°
4>+
=
0z
T
fon

ANE 29g
2

17,740,000& » 14|

OZSMHHA KNSR X
10,000, 0003 =14

17,750,000 * 14}

= M

H

Al

H

Al

= M

63,230

17,740

3,548
14,192

17,740

3,548
14,192

10,000

2,000
8,000

17,750

3,550
14,200

63,230

A

[und

o

or
I

ZTAL BAT MMM

=M

98,413

19,683
78,730

98,413

307 ©I2+0I &

= M

98,413

19,683
78,730

98,413

A S XAIE E X

ONE=Y AHAME SAL MR
98,413,000& » 14|

= M

98,413

98,413

19,683
78,730

98,413

>
B>
Jn
_Qﬂ
Sl
o
M

M
1z
o
o
0
>
0

in

Al

660,000

132,000
528,000

660,000

= N

660,000

132,000
528,000

660,000




A OIS D

Bu: o4 52X B
Sel: JE=N S CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A3l EE & 56l = 660,000 660,000 0
OBISRIIE MEY X
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< 132,000
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SHEEIHE Xt w=Hl K& 44,000 44,000 0
< 22,000
Al 22,000
301 gEtE L= 44,000 44,000 0
< 22,000
Al 22,000
01 A3l EE E 56l = 44,000 44,000 0
OBERINENE REH X
44,000,000& =14 44,000
< 22,000
Al 22,000
Ots2=tl XA 2,632,500 1,045,250 1,587,250
J| 2,106,000
< 263,250
Al 263,250
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| 2,106,000
= 263,250
Al 263,250
01 A3l EE E =56l = 2,632,500 1,045,250 1,587,250
OSBRI OlEASH X8
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= 261,190
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Al 960
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< 1,100
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| 45,108
< 5,638
Al 5,638
301 Yere A 56.384 19,800 36,584
| 45,108
< 5,638
Al 5,638
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J| 45,108
< 5,638
Al 5,638
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J| 38,500
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FELADIIE XS 135,820 212,650 NT76,830
= 67,910
= 13,582
Al 54,328
307 2Iz2t0| A 135,820 212,650 ANT76,830
= 67,910
o= 13,582
Al 54,328
11T AISIEXAIE EX 135,820 212,650 ANT76,830
OFAADNINE XA 135,820,000 = 14! 135,820
= 67,910
=} 13,582
Al 54,328
A28 E20= 10,560 11,110 A B50
202 04d| 5,760 5,760 0
01 2L I 5,760 5,760 0
OHLINEEsH gRF&X 480,000 x12& 5,760
307 2I2t0| ™ 4,800 4,800 0
02 DIZHBAAIE E X 4,800 4,800 0
Oo88 2 iU s 4,800,000& x 14! 4,800
ALIE SHAY 15,000 15,000 0
307 2Iz2t0| & 15,000 15,000 0
04 CIZ2ISHAAISH E & 15,000 15,000 0
OAHLINE2ET 15,000,000 « 1Al 15,000
227 15,000 15,000 0
307 2izto| A 15,000 15,000 0
04 QIZ2tSHALALS B = 15,000 15,000 0
OF2=FH 15,000,000& * 14! 15,000
NSRS 23 8A XS 10,000 0 10,000
= 5,000
Al 5,000
307 QI2t0| ™ 10,000 0 10,000
& 5,000
Al 5,000
11 Al EXAIEEX 10,000 0 10,000
OJIERSIE23 &4 XS 10,000,000 =1 Al 10,000
& 5,000
Al 5,000
IIEH=SES ALY 60,000 0 60,000
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Al 30,000
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Al 189,496
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< 12,489
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J| 145,704
< 12,489
Al 49,956
11T MISAASEX 208,149 186,660 21,489
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208,149,000 » 14! 208,149
J| 145,704
< 12,489
Al 49,956
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J| 20,741
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Al 8,889
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Al 19,267
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Al 14,712
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< 3,678
Al 14,712
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< 1,611
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| 18,795
< 1,611
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Oool=Ee Js83d =4 26,850,000 » 14! 26,850
| 18,795
< 1,611
Al 6,444
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| 15,515
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307 glz2+ol & 22,163 22,162 1
| 15,515
Al 6,648
11T AISI S XA E X 22,163 22,162 1
Oog=adus 24 22,163,000& *1 22,163
| 15,515
Al 6,648
Ct230tE 8t=20 2561 thal A 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 DIZFHALALSE E X 3,000 3,000 0
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3,000,000& *1 3,000
Ch2shts HMg £ 24 X 20,000 20,000 0
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O1 3322 ¥ HA 4,500




M 0{EIIED
M FAAS OISES
S Ol sSSEAMUA )
S HB B (SH) - NRAMY - BAS O 4t o8 il 2t
PEE2R=2 € BEEs 4,500,000 1Al 4,500
= 4,500
O3 A& &Hl |XlH] 800
DESAEIE TAAIAEH X 22
800,000 *14! 800
= 800
O4 XtEFE e 1,000
DEPNE= =N sl 1,000, 000& * 14! 1,000
= 1,000
03 &AL EH| 36,000 202,400 A 166,400
OEYAEIE diAIRY 36,000,000 14! 36,000
= 36,000
202 044 7,800 7,800 0
= 7,800
01 2L Y| 7,800 7,800 0
OEEAEE HRFX 150, 000& *3021 x12& 5,400
= 5,400
OEEAEE 34 2 DY
100,000& *32! *83| 2,400
= 2,400
301 dBtE A= 85,000 101,700 N 16,700
= 85,000
01 MIEEE 252 80,000 100,000 A 20,000
OEHAEE HaOsS X&
80,000,000 =14 80,000
= 80,000
09 HAIAHIBAZ 4,000 500 3,500
OEYAEIES#AI EILAH B4
4,000,000& *14] 4,000
= 4,000
12 JIEt2 &= 1,000 1,200 A 200
OEHAEE XNESALA 2 SH|
1,000, 000& * 14! 1,000
= 1,000
307 212t0| & 11,000 11,000 0
= 11,000
01 2L 2= H| 11,000 11,000 0
OEYAEIEMY 22 2 A A&
11,000,000& * 14! 11,000
= 11,000
P! g5 ¢ g4 2,813,070 2,064,614 748,456
= 66,100
J| 642,917
= 179,200
Al 1,924,853
A8& HAESY 2,813,070 2,064,614 748,456




SN OEIED
Ll

N HAEES W BA
el AME HAUKSY (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 66,100
J| 642,917
= 179,200
Al 1,924,853
HAEXNE A B XX & 89,280 88,740 540
J| 44,640
Al 44,640
307 glz2tol & 89,280 88,740 540
J| 44,640
Al 44,640
11T M SXASEX 89,280 88,740 540
OZ3S+8AI4d FAEXZA HiXI
89,280,000 » 14! 89,280
J| 44,640
Al 44,640
S3EAE T2 29 10,400 10,000 400
J| 5,200
Al 5,200
307 glz2tol & 10,400 10,000 400
J| 5,200
Al 5,200
11T M SXAIS EX 10,400 10,000 400
OZTHAUSHAL Z208 29X
10,400, 000& 14! 10,400
J| 5,200
Al 5,200
FdaE H=E0E XA 24,000 24,000 0
= 9,600
< 2,400
Al 12,000
307 gl2tol & 24,000 24,000 0
= 9,600
< 2,400
Al 12,000
11T M SRASE EX 24,000 24,000 0
O&FAaYE HSg0E XA 24,000,000 » 14! 24,000
= 9,600
< 2,400
Al 12,000
da4@ sotel A& 25,000 25,000 0
= 10,000
= 2,500
Al 12,500
307 glz2+ol & 25,000 25,000 0
= 10,000
< 2,500
Al 12,500




SN OEIED
Ll

M dAEE5 Y |4
ol AWE HAHSY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 25,000 25,000 0
OaAdEs0tel XA 25,000,000 =14l 25,000
= 10,000
< 2,500
Al 12,500
ALddAE FHIIP 24 2,800 2,800 0
J| 1,400
Al 1,400
307 21201 A 2,800 2,800 0
p] 1,400
Al 1,400
11T MISRASEX 2,800 2,800 0
OXNgEAY FWII7 ¢ 2,800,000 x14 2,800
9] 1,400
Al 1,400
S3TEANE HAEURARARE 29 6,000 6,000 0
J| 3,000
Al 3,000
307 glz2tol & 6,000 6,000 0
J| 3,000
Al 3,000
11T ALS S RAEE = 6,000 6,000 0
OZS3+8ANE BLAU2HAS 29
6,000,000& »14! 6,000
J| 3,000
Al 3,000
KNAAME HEALAEHSEXNHA 2= 94,700 92,300 2,400
J| 47,350
Al 47,350
307 21201 A 94,700 92,300 2,400
J| 47,350
Al 47,350
11T ALSI S XAEE = 94,700 92,300 2,400
OXEAte EAHSEXNEHMA *=
94,700,000& » 14! 94,700
J| 47,350
Al 47,350
sty & HAdE X 122,310 119,000 3,310
J| 85,617
Al 36,693
307 21201 A 122,310 119,000 3,310
J| 85,617
Al 36,693
11T AR S XA E =X 122,310 119,000 3,310
Osgtw & 44 XA 122,310, 000& 14 122,310
J| 85,617




SN OEIED
Ll

M dAEE5 Y |4
el A[B HAUSH (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 36,693
HAUsEAG Z20H 23 122,180 119,468 2,712
J| 61,090
Al 61,090
307 gl2tol & 122,180 119,468 2,712
J| 61,090
Al 61,090
11T M SXASE EX 122,180 119,468 2,712
OHAE SUX Z2I 29
122,180, 000& 14 122,180
J| 61,090
Al 61,090
FAHE Ad23t4H 29 150,586 148,068 2,518
J| 75,293
Al 75,293
307 gl2tol & 150,586 148,068 2,518
J| 75,293
Al 75,293
11T ALS S RAEE = 150,586 148,068 2,518
OFAY H23dH 29 150,586, 000& 14! 150,586
J| 75,293
Al 75,293
HAE LS O3HEHO0 2 544,894 354,084 190,810
J| 272,447
Al 272,447
307 glz2tol & 544,894 354,084 190,810
J| 272,447
Al 272,447
11T MISXASEX 544,894 354,084 190,810
OaAd g=otatool 2949
544,894,000 » 14! 544,894
J| 272,447
Al 272,447
Fad SEEXE 28,400 30,000 A 1,600
J| 19,880
Al 8,520
301 et d = 28,400 30,000 A 1,600
J| 19,880
Al 8,520
01 MEIBEZE 06z 28,400 30,000 A 1,600
O&FAY SEXH 28,400,000 =14l 28,400
J| 19,880
Al 8,520
SIEH Oy T2IY 2Y 54,000 26,384 27,616
J| 27,000
Al 27,000




o

AN GEIEY
N HAEES W BA
CHol: ATE HAESH (e
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 54,000 26,384 27,616
J| 27,000
Al 27,000
11T M SXASE EX 54,000 26,384 27,616
Ogtu=d g2y 29
54,000,000& =14 54,000
J| 27,000
Al 27,000
A=HAE =H 30,000 30,000 0
307 2I2H0I A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
Of=3Aa4Y =X 30,000,000 » 14l 30,000
N3 =g4H sote =X 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 DI2HHALALSE E X 15,000 15,000 0
O3 =& &0ty =M 15,000,000 * 14! 15,000
FFHELYE IR WA SHOtE 5,500 5,500 0
307 21201 A 5,500 5,500 0
04 QIZFHALAIH B = 5,500 5,500 0
O a4 It - A AA SHOHY
5,500,000 » 14! 5,500
ol EsXE 964,020 931,470 32,550
2 B2 | 50,200 32,550 17,650
f2eldl 19,600 14,550 5,050
O1 det=2Hl 14,000
PHEHAEE Y832 5,200& *2,5004 13,000
DEAE RoiSIAH SE2= MH
1,000, 000& 14 1,000
O3 2g8=¢ 5,600
DRAFA EAFISSHXNIMA 2SR &
g 70,000& 1021 x33] 2,
DENESANM XA A
70,0003 x1121%23] ,540
DRFA oY S &
70,0003 1421 %23] ,960
02 2324l 30,600 18,000
O1 3322 ¢ HA 1,600
DEALAGSHEALE DERLYRLS(20HL)
1,600, 000& 14 1,600
O3 A& ZHl s Xt 29,000
DEALAEIANE RALE I 15,000, 000& 14 15,000
DEALAHSEAL FIIAMEFH(BHS)
7,000,000& »23| 14,000
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SN OEIED
Ll

N HAEES W BA
SRl AMS HAESY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EFANELEEHS JISsEZAMY 330,000 0 330,000
< 165,000
Al 165,000
401 Al HI K 201 I 330,000 0 330,000
< 165,000
Al 165,000
01 A& Bl 330,000 0 330,000
OHFAULBD HIANE B2TA
220,000,000 =14 220,000
< 110,000
Al 110,000
OBAUSHZ 44 242 A
26,000,000& =14 26,000
< 13,000
Al 13,000
OHAESRD 0SB SHYSTA
84,000,000& » 14! 84,000
< 42,000
Al 42,000
#Y2HAY 225,201 197,955 27,246
=2 129,700
< 2,960
Al 92,541
IHAEHI(HEIE) 175,844 155,618 20,226
= 129,700
= 2,960
Al 43,184
OIA2HY(SHAEIE S& At 22l X&) 138,780 73,600 65,180
- 114,900
Al 23,880
101 @124l 138,780 73,600 65,180
= 114,900
Al 23,880
03 RIHAZ 22+ 138,780 73,600 65,180
OEYAEE S&Ad 22l 138,780
>ll=s 2,000,000& »301x12& 72,000
= 72,000
> =&l 250,000& *321«12& 9,000
= 9,000
DAl B8 = 300,000 x321«12& 10,800
= 10,800
>EXZ 2,300,000& =3¢I 6,900
= 6,900
D> W=l 600,000 x3¢2I 1,800
= 1,800
PATZZ G 14,400, 000& 14 14,400
= 14,400




SAD SIS
Hu: #F2ARY
Crel: o2 ol (0 AIIED) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
> EAZ A 130,000 x321 x12& 4,680
>us2 Xl 120,000& =321 128 4,320
> HE S| 4,080,000& =14 4,080
D&z 10,800, 000& 14 10,800
lHAIHI(OtS SR LA X&) 37,064 25,000 12,064
= 14,800
< 2,960
Al 19,304
101 @124l 37,064 25,000 12,064
= 14,800
= 2,960
Al 19,304
03 RIHAZ 2 E =+ 37,064 25,000 12,064
OOtS =X WA K& (XIS ASI = Xl A 37,064
>lle=s 1,800,000& 11 x12& 21,600
= 10,800
< 2,160
Al 8,640
> =&l 1,500, 000& 14! 1,500
= 750
< 150
Al 600
DAY EE = 250,000& x101+128 3,000
= 1,500
< 300
Al 1,200
>EAZ 3,000,000& =14l 3,000
= 1,500
< 300
Al 1,200
>uU=H S 500,000& » 14 500
= 250
< 50
Al 200
> HE S| 1,224,000& 14 1,224
>aN=3 3,240,000 » 14 3,240
D> &Mz AlH| 130,000+ 121 »12& 1,560
>uNES2 X 120,000+ 121 x12& 1,440
Jl23dl(ddot=1) 49,357 42,337 7,020
Jl2dul (L= 49,357 42,337 7,020
201 LBt 29,797 23,377 6,420
01 At 22l 27,025 20,857 6,168
O1 Let==EH| 18,961
DEM2I=E2HI 11,761,000& 14 11,761
DYlOIMEEHI EHEE
300,000 x84 33| 7,200




2N
X ZH -
L= B

el

SA BB O () - MM - HES 0l &+ o4 il

O5 =&l 8,064
DOt 5222 8,000& 2121 %43 x 12 8,064

02 3323l 2,772 2,520
O1 32323 ¥ MA 2,772
DRELZS 330& 70024« 12& 2,772

202 odl 14,760 14,760

01 = LHA YI 14,760 14,760
OJI2g=e+8 ol 11,760, 000& 14 11,760

OG&IE 227 2ol

3,000, 000& *1 3,000

203 2 EFH| 4,800 4,200

TS 4,800 4,200
OFRN2ILR A 400,000& =122 4,800




